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QUESTION 1

Which three factors should an Administrator take into account when determining the required VDP appliance size and
number of appliances? (Choose three.) 

A. retention periods (daily, weekly, monthly, yearly) 

B. VMs guest OS family and version 

C. typical change rate 

D. Number and type (database, file system) of VMs 

Correct Answer: ACD 

 

QUESTION 2

What is the effective vSphere licensing level during the 60 day evaluation period? 

A. vSphere Foundation Essentials Plus 

B. vSphere Standard 

C. vSphere Enterprise 

D. vSphere Enterprise Plus 

Correct Answer: D 

 

QUESTION 3

A vSphere Administrator recently introduced a new shared storage solution for the ESXi hosts. Despite good device
specifications, this new storage solution is not performing well. What are two VMwarerecommended troubleshooting
steps for fixing this? (Choose two.) 

A. Restart the vCenter Server. 

B. Check the VMware Hardware Compatibility List. 

C. Verify that vCenter Server is running the latest patched version. 

D. Verify that the drivers and firmware are at the recommended versions. 

E. Restart the Platform Services Controller. 

Correct Answer: AE 

 

QUESTION 4
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A vSphere Administrator uses vMotion to migrate a virtual machine between two ESXi hosts and notices 

that they can no longer ping the VM. 

What is the cause? 

A. The destination host has an incorrect VLAN tag on the virtual machine port group for the VM 

B. The destination host has two port groups with the same VLAN tag 

C. The virtual machine has RDMs attached 

D. There\\'s an MTU mismatch 

Correct Answer: B 

 

QUESTION 5

A vCenter Operations Manager 5.7 environment is upgraded to vRealize Operations. After the upgrade, 

the analytics services fail to start. 

Which three steps must be taken to resolve the problem? (Choose three.) 

A. Take the vRealize Operations cluster offline. 

B. Delete the activity persistence files. 

C. Bring the cluster back online. 

D. Remove any unresponsive nodes. 

E. Stop the CaSA service. 

Correct Answer: ABC 
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